
Fri 15 Sept
-

° Hmwk due tonight .

• New hmwk posted

later
today .

. Late getting holes t videos posted.

Will improve .

a Goal today is to understand :

① subdivisions

② edge contractions
③ topological minors

④ ( ordinary ) minors

⑤ Cor I. 7.2 t Prop 1.7-3



81.7 Contraction and Minors

• A subdivision of the graph X is any graph
obtained from X by iteratively adding a

vertex of degree 2 to an edge of X .
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• If graph Y contains graph G as a subgraph where

G is a subdivision of X
, we say

X is a topological of Y.
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• dei : G graph with edge e -

- x. xz .

The graph
X obtained by contracting is

the graph s .
t
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QJ Contract e -
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Cortot X
,
Y finite graphs .

⑥
X is a minor of Y 2=7
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Git , is obtained from Gi via 1 of 3 ops :

① edge deletion
,
② vertex deletion on

③ edge contraction .
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Prop 1. 7.3
-

( i ) If X is a topological minor of Y
, then

X is a minor of Y .

( ID If DCD E3 and X is a minor of Y
,

then X is a topological minor of Y
.

Read last paragraph about
"

embedding Xiny
.
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